Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) =

An ordered pair corresponds to ——--mmmeeee

a

Answer | Please select your correct option )

A unique poit CORRECT ASNWER SOLVED BY HADI
C CELL NO : +923228043306
EMAIL : usmanraj20(@gmail.com

A point in each quadrant
(..

Two points
.

Infinite number of points
I

Wede By: Wegear Siddha



Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) =

Plane iz a special type of ---------m-m- ]

a

Answer | Please select your correct option )

Curve
-
- Sirface CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAITL : usmanraj20@gmail.com
Sphere
2
Cone
=
Meade By: WNdagar Siddha




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) =

There iz one-to-one correspondence between the set of points on a co-ordinate line and

a

Answer | Please select your correct option )

-

Set of real numbers

CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAITL : usmanraj20@gmail.com

Set of integers

Set of natural tumbers

Set of rational numbers




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) =

TWhat iz the general equation of parabola whose ass of symmetry is parallel to y-amis?

a

Answer | Please select your correct option )

y=axl+b {a =M
.

=@t +h {a=0)
(..

3= art +bhrte (o = 0 COmCT ASNWER SOLVED BY HADI
o CELL NO : +923228043306

EMAIL : usmanraj20@gmail.com

x=ay +hy+e (o =)

I
WMeade By: Bdcgear Siddha




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

T
If'the sphencal coordmates of a pomt are[2,z, 0] , then z-coordinate m rectangular coordinate system s . . .

Answer | Please select your correct option )

0
.
s
.
i
.
J2
;
Weide By: WReceir Siddha



Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) =

The finction z =

1
SJxty

15 discontinuous at ongm because at the pomt (0,0, 1. . .

a

Answer | Please select your correct option )

has a jump
.

has a hole
(..

approaches towards infinity CORRECT ASNWER SOLVED BY HADI
O CELL NO : +923228043306

EMAITL : usmanraj20(@gmail.com

approaches towards zero

I
Weade By: Wadgelr Siddha




Question No : 7 of 26 Marks: 1 (Budgeted Time 1 Min) =

a

The fiunction f{x, ») =.J¥ - x 13 contitmous in the region --------- and discontinucus elsewhere

Answer | Please select your correct option )

x2y
(.
i®y
c
iy
o
xry
c
Wede By: IBager Siddha



Question No : 8 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Letw =1z, v, z) and = = gir, 5}, ¥ =hit, 5), z=1t(r, 5 then by cham rule Ba_w AR
>

Answer | Please select your correct option )

dwdr dwdy dwik
e L e
O\ axdr ayor & ar

dw dxr  Gwdy  Owde
SR SRS, Sl
O\ arar B ar Ao

8w8x8x+8w6)18y+8wazaz

O\ 8xards Ay érds o drds

dwdr  dwdr  dwodr
S el e ol
Clarax ar dy  adr dz




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Every differentiable fimction is always

a

Answer | Please select your correct option )

Diece wise contitmous
~
Discontinuous
I
Continuous CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
o EMAIL : usmanraj20@gmail.com




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) =

. alin L L
The vector @& iz, ... ... ... tobothaandd.

a

Answer | Please select your correct option )

-

Opposite
Equal
Paatied CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAITL : usmanraj20@gmail.com
Crthogonal

Weade By: WNagear Siddha




Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) =

Gradient of a scalar function always results in a .

. function.

a

Answer | Please select your correct option )

-

Scalar
Centitmonus
Wector CORRECT ASNWER SOLVED BY HADI
CELL NO : +023228043306
EMAIL : usmanraj20@gmail.com
Constant

Weade By: WNagear Siddha




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) =

Tthe direction of gradient at any point on the surface 1z .

. to the tangent plane at that point.

a

Answer | Please select your correct option )

-

parallel

perpendicular

CORRECT ASNWER SOLVED BY HADI
CELL NO : +023228043306
EMAIL : usmanraj20@gmail.com

opposite direction

MNone of these




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) =

Fe o)z = x )+ (2 20 + S (po)(z ~2,) = U i the equation of ...

-

Answer | Please select your correct option )

MNormal plane
-

Point slope form of line

Gradient of function f(x, ¥, z)

Tangent plane

correct



Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) =

For afinction z = #(x, ¥}, the total diferential is defined as . . . .

a

Answer | Please select your correct option )

-

dz = f(xy)dx = f, (x. y)dy

dz = filxy)dn + f, (x.p)dy

CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@gmail.com

dz = f(%p)dy = 5, (5. p)dx

dz = f(xy)dy + 1, (x.y)dx




Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) =

For afunction 7 (x,») to have both abzolute mastimum and minitoum, it must be Continuous on . . . .

a

coset R

Answer | Please select your correct option )

-

aclesed and bounded

correct

CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAITL : usmanraj20@gmail.com

an open and bounded

aclosed and unbounded

an open and unbounded




Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) =

a

The volume of parallelepiped with dimensions z, .,z 15 .

Answer | Please select your correct option )

= bt
-~

V=xty+tz
(..

W=z
.

V== CORRECT ASNWER SOLVED BY HADI
e CELL NO : +9232280433006

o EMAIL : usmanraj20@gmailrom —
cormect ade By: Wagar Siddha




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min) =

Let x be the length, width and height of a cube. The area of bottom will be .

a

Answer | Please select your correct option )

-

A=x?

A=x CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@gmail.com

A=zxz

A=x+x




Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) =

A double integral and iterated mtegral become identical prowided that the integrand iz . .

. over the given rectangular region.

Answer | Please select your correct option )

Bounded CORRECT ASNWER SOLVED BY HADI

8] CELL NO : +923228043306
@@ Frec t EMAIL : usmanraj20@gmail. com

Discentinuous
(..

Centitmous
.

Defined
I

WMeade By: Bdcgear Siddha




Question No : 19 of 26 Marks: 1 (Budgeted Time 1 Min) =

a

FR=((x)):28x84and 0 &y £1},then J‘J‘(4xe”')df1= e

Answer | Please select your correct option )

1 4
~ J J (4xe™Vavedx

Lot PR CORRECT ASNWER SOLVED BY HADI
o JJ( e )dxdy CELL NO : +923228043306
EMAIL : usmanraj20@gmail.com

2
J {(4xe™)dxdy

9]
PR

4 2 »
C IJ(4X9 Vadvdx




Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min) =

FR=(({x)):0%x%2and 08 y<3) then g(l—ye”)M=..

a

Answer | Please select your correct option )

(1= ye™)dyedx

(= S

|

CORRECT ASNWER SOLVED BY HADI
CELL NO : +923228043306
EMAIL : usmanraj20@gmail.com

(1= ye™ ) dxdy

(= I——

|

(1= ye™ \dxcdy

[=TI——

|

23 »
C JI(4X9 Vadvdx




Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) =

-

r -
“Write down the equation of a plane passing through the pomt (2, = 3y 1) and perpendicular to the vector # =16 i+ 6 j+6 &

Answer | Please click here to Add Answer )

=EEE| e a|E |@|1nn%_||
INnrmaI _IIAr\aI _”12 _I H 7 UH————




Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) =

-

as 5d
State the condition when _[[f(x, yidd= ij(x, Yoy :ij(x,y)dydx where F 15 the region of itegration,
H iz 2%

Answer | Please click here to Add Answer )

DeEEPEE|e @i T |E o
INnrmaI ;IIAr\aI ;”12 LI B 7 H‘E
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Question No : 23 of 26

Marks: 3 (Budgeted Time & Min) =

Find the critical pomts for the finchion. f(x,p) where as f, =2x+y and f, =2y +=x.

-

Answer | Please click here to Add Answer )

=EEE )R e ﬂ|@|1nn%_||

INnrmaI | BFE 5 - uE===




Question No : 24 of 26

Marks: 3 (Budgeted Time & Min) =

Ewaluate the following double integral
mz +2x=3*) dx dy

-

Answer | Please click here to Add Answer )

DS PEEe s i &) o]

Jriormel | =iz =Hs 2= |




Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =

a

Consider a fanction f (x, ) = x° = 3xp+3* .One ofits critical peintis (1, 1). Find, whether 7 (x, ) has relative mazima, relative minima or saddle pemt at (1, 13.

Answer | Please click here to Add Answer )

=EEE| e a|E |@|1nn%_||
INnrmaI _IIAr\aI _”12 _I H 7 UH————




Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min)

=

5

4

2 I

Use double integral in rectangular co-erdnates to compute area of the region bounded by the curves y =x°and y=x+2.

Answer | Please click here to Add Answer )

=EEE )R e ﬂ|@|1nn%_||

INnrmaI | BFE 5 - uE===




Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min)

Answer | Please click here to Add Answer )
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Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min)

Answer | Please click here to Add Answer )
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